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LIST

16 CLS

20 INPUT “"KonuuecTBo geTaneii,nomeuawuxca B tenexky' ; N
30 DATA 1,0,0,1,1,0,0,0,1,1,1,-1

40 FOR T=1 TO 12

50 READ D
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10 CLS

20 D=0

30 INPUT "Cxoneko xamHeii Geper Bawa':B
40 IF B=0 THEN PRINT"Flouerbed":GOTD 140
50 D=D+B

60 PRINT D

70 GOSUB 150

80 INPUT "Cxoneko xamHeii Gepetr Cens";C
90 IF C=0 THEN PRINT"flouverbed"”:GOTD 140
100 D=D+C

110 PRINT D

120 GOSUB 190

130 GOTO 30

140 END

150 FOR X=2 TO D-1

160 IF D MOD X=0 THEN RETURN ELSE PRINT"Vanja":GOTO 140
170 NEXT X

180 RETURN

190 FOR W=2 TO D-1

200 IF D MOD W=0 THEN RETURN ELSE PRINT"Senja":GOTD 140
210 NEXT W

220 RETURN
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LIST

10 CLS

20 INPUT "KonuydecTBo 6GuneToB B KaTyuxe' A
30 INPUT "Homep Guneta':B

40 INPUT “xonuuecteBo paspagos’:N
50 K=N

60 FOR I=1 TO N _

70 ACI)=INT(B,/10 (N-1))

80 PRINT ACI)

90 B=B-A(I)=10 (N-1)

100 N=N-1:IF N=0 THEN GOTO 120

110 NEXT I

120 FOR I=1 TO K/2

130 S1=S1+AC(I)

140 NEXT I

150 FOR I=Kr2+1 TO K

160 S2=S2+AC(I)

170 NEXT I

180 PRINT S1

190 PRINT S2

200 IF S1=32 THEN PRINT 120 ELSE PRINT ABS(S1-82)
210 IF ABS(S1-32)>A THEN PRINT -120
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